
1

WPS3 Workshop Campaign - Replacing high
voltage converter

WPS3 Workshop Campaign - Replacing high voltage

converter

ID Number WPS3

Models Taycan (Y1A / Y1B)

Model Years 2020-2022

VIN List Attached

Number of Affected VINs 5

Issue Description On the affected vehicles, the high-volt battery inclu-

ding the high-volt battery control unit (BMCe) was not

replaced in conjunction with the high voltage conver-

ter.

When switched off, this can lead to a warning messa-

ge on the instrument cluster "Vehicle electrical system

- service required".

To prevent this, the high-volt converter must be repla-

ced.

What should Porsche Centers do? Please arrange for this measure to be carried out as

soon as possible on affected vehicles.

As of the time of this posting (12/13/23) the reme-

dy is now available.

Parts can be ordered as normal via PPL.

TI Number No. 196-23

Required parts
Part number Designation Quantity/vehicle Parts return*

Vehicles with campaign scope 1 and 2:

9J1915539CK Voltage converter

HV Booster low

1 piece Yes

https://ppn.porsche.com/portal/teaser.jspa?teaserId=&teaserSize=HIGH_RES&sourceType=REF
https://ppn.porsche.com/portal/docs/DOC-491157


WPS3 Workshop Campaign - Replacing high voltage converter

2

N 10261307 M10 hexagon nut 2 pieces No

PAF912040 Hexagon-head bolt, M8 x
50

4 pieces No

Vehicles with campaign scope 3 and 4:

9J1915539DP Voltage converter

HV Booster low

1 piece Yes

N 10261307 M10 hexagon nut 2 pieces No

PAF912040 Hexagon-head bolt, M8 x
50

4 pieces No

Vehicles with campaign scope 5 and 6:

9J1915539DN Voltage converter

HV Booster high

1 piece Yes

N 10261307 M10 hexagon nut 2 pieces No

PAF912040 Hexagon-head bolt, M8 x
50

4 pieces No

Vehicles with campaign scope 7 and 8:

9J1915539CN Voltage converter

HV Booster high

1 piece Yes

N 10261307 M10 hexagon nut 2 pieces No

PAF912040 Hexagon-head bolt, M8 x
50

4 pieces No

Until the associated warranty or campaign claim has been credited the parts must be stored. If, with the

credit note, a barcode is generated , the affected part must be sent to Porsche AG as usual. If no barcode is

generated with the credit note, the part can go directly into the remanufactured parts process or be scrapped.

Required materials (usually already available in the Porsche Centre):

Part number Designation Quantity/vehicle

00004330516 Coolant additive, 20-litre container Quantity as required

(max. 0.5 liters are required per ve-

hicle)

Warranty processing

Validity:

This workshop campaign will be carried out up to February 7th, 2029 and will be closed on that date.

Please note that warranty claims can only be processed up to this date.



WPS3 Workshop Campaign - Replacing high voltage converter

3

Scope 1, 3, 5 and 7: Replacing HV voltage converter
• Valid for vehicles for which the workshop campaign was carried out in conjunction with the workshop

campaign WPL8

Damage Code WPS3 66 000

Repair Code 2

Labour time 228 TU

Scope 2, 4, 6 and 8: Replacing HV voltage converter
• Valid for vehicles, for which the WPL8 workshop campaign has already been carried out

Damage Code WPS3 66 000

Repair Code 2

Labour time 684 TU

Please enter the campaign carried out in the Warranty and Maintenance booklet for the vehicle.

Customer mobility
If requested, mobility for the affected customer can be ensured by offering a suitable replacement transport.

Please invoice this additional service via WWS with the campaign scope.

Attachments

1. VIN_List_Report_WPS3_2023-12-13_V2.xlsx

https://ppn.porsche.com/portal/servlet/JiveServlet/download/491144-1-714946/VIN_List_Report_WPS3_2023-12-13_V2.xlsx

